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a8 1. (6 AZLUY) ATEugNn1TnTEN InsRama il
2.1 mawn mtawmuuiauuy Stoichiometric combustion
2.2 s msitamuuAaiy Stoichiometric air

2.3 nawn mditamuuianuannia 250% theoretical air



aa 2. (4 AzKUU) An airplane is flying at the altitude of 3,000 m. How long does it take
for an observer on the ground to hear noise from a plane from the instant it is directly
overhead when the speed of plane is 2,500 km/hr? What is the Mach number?

Assuming, a temperature of the air is 12 °C. (Given: k = 1.4 and R = 0.287 kJ/kg-K)



a8 3. (6 AZUUU)

3.1 (4 Azuuw) a4 lita N84 stagnation enthalpy (h,) Wae stagnation pressure

(p,) 10908 WFaNaNN1sUsENEY

3.2 (2 Azuuw) Weasslualuatinuiesn (reduced section) Aldarwialuuunladl

n1stnalauAnFauLazaNL A1 stagnation temperature wa pressure tlasulilagnels



ain 4. (7 AzULY) For an isentropic expansion or compression of ideal gas, show that
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where “v” is specific volume, k =-%






%iq 5. (12 AZWUU) An ideal gas turbine equipped with an ideal heat exchanger (as
shown in diagram below) works at the following conditions:
- Air enters the compressor at 300 K
- Hot gas enters the turbine at 1400 K
- Anideal heat exchanger works at the same optimum pressure ratio
of a simple ideal gas turbine
- Given, c, = 1.005 kd/kg-Kand k= 1.4
Determine the following;
5.1 (4 AZLU)
1. network; W,
2. Cycle efficiency; N
5.2 (4 AZWU) If this gas turbine works at r, = 10. Determine W, and 1] in 5.1.

5.3 (4 AZWUY) From 5.2, if the heat exchanger has the efficiency of 75%, repeat

the calculation in 5.1 again.
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